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<C3> FUNCTIONS

Answers - Worksheet A
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=0.997 =5.79 =-0.815 =1.75
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range: 1 range:
f(x)> 0 —z -1<fx)<1

f(0)=-1,1(7)=6 ][ b f(0)=4 I
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f(0)=0, f(5) = 125 d f(1)=2f(£)=10

L 0<x< . L 1
s 0<x<5 c 70 <X <3

6 a 4x+3=9 b *-7=18 c 2 =6
x+2
x=32 =25 6x+12=9
x=%5 x=-1
d 4x+3=_" e X¥-7- 2 -1 f 4x+3+x-7=0
x+2 9
(4x+3)(x+2)=9 9x?— 63 —x—2=-57 ¥ H+ax—-4=0
47 +11x-3=0 9 —x—8=0 x= 2ENVI6#16 V216“6
(4x—1D(x+3)=0 Ox+8)(x—1)=0 x=-2+22
x=-3,1 x=-%1 or —4.83, 0.828 (3sf)
7 a fx)=@+2)’-4+11=(x+2)+7 range: f(x)>7
b fx)=(x-1>-1-6=(x—-1>-7 range: f(x)>-7
¢ fx)=2x+3)7-9+3=02x+3)-6 range: f(x) > —6

d fx)=Gx—-1’-1+16=0CBx-1)"+15  range: f(x)>15
e f)=15-[x*+4x]=15-[(x+2)*-4]=19—(x+2)*  range: f(x)<19
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